SXYx-C| | - - RCX320-2- -

[__Model [y Cable |y Combination|
A1

‘;ﬁ Specify various controller setting items. RCX320 » P660
A4
RCX222 - - -
Specify various controller setting items. RCX222» P670
X-axis Y-axis Y stroke (mm) XY 2 axes

Axis construction "'’ F14H F14 150 20
AC servo motor output (W) 200 100 250 17
Repeatability "% (mm) +-0.01 +-0.01 350 15
Drive system Ball screw $15 Ball screw $15 ::g 1?
Ball screw lead “**°* (Deceleration ratio) (mm) 20 20 650 9
Maximum speed “***(mm/sec) 1200 1200
Moving range (mm) 150 to 1050 150 to 650
Robot cable length (m) Standard: 3.5 Option: 5,10

Note 1. Use caution that the flame machining (installation holes, tap holes) differs from single-axis robots’.

Note 2. Positioning repeatability in one direction.

Note 3.Leads not listed in the catalog are also available. Contact us for details.

Note 4. When the X-axis stroke is longer than 750mm, resonance of the ball screw may occur depending on the operation conditions (critical
speed). In this case, reduce the speed setting on the program by referring to the maximum speeds shown in the table below.

Controller Operation method

RCX320 Programming / I/O point trape/ )
RCX222 Remote command / Operation using
RS-232C communication

SXYx 2 axes (A1

(18.5)
284+/-3 X stroke 90 5.5
s 70| 2-06H7 Depth 8 W
: 32 8- M6 x 1.0 Depth 8
[ e < o
[EXZTX. S
T & 72 b
| == 45 = 9
8 1 i 12/t v
N ' 2L g Use M6 x 1.0 hex socket head bolt
M \ &8 I with length head bolt with length
3 o9 o == (under head) of 20mm or more.
@) T
> Detail of section A Detail of section B Detail of section C
h® |
— 93
- | 1o 7
= { I e
ol - e 188
59.5
205 $9.7 6138.26
7.
35 X stroke + 215 Cross-section of cabdl>e carrier
L (X stroke + 320)
42
7.5
53 34 ol )
Note 2 © 9 ™~ -~ B
~ Nl —
‘(3 8
o =
| N-M6 x 1.0 Depth 10
T — < Jge
% 200 N-¢7 through (C)
ee detal rawing o
C section 156 M x 200 K | 114
151 D +-0.02
X stroke 150 | 250 | 350 | 450 | 550 | 650 | 750 | 850 | 950 |1050 Note 1. The moving range when returning to origin and the stop position when stopping by
the mechanical stopper.
L 470 | 570 | 670 | 770 | 870 | 970 | 1070|1170 | 1270 | 1370 Note 2. The shaded position indicates an user cable extraction port.
K 200 | 100 | 200 | 100 | 200 | 100 | 200 | 100 | 200 | 100
D 240 | 240 | 420 | 420 | 600 | 600 | 780 | 960 | 960 | 1140
M 0 1 1 2 2 3 3 4 4 5
N 4 6 6 8 8 10 10 12 12 14
Y stroke ‘ 150 ‘ 250 ‘ S50 ‘ 250 ‘ B30 ‘ 650 ‘ Note 3. When the X-axis stroke is longer than 750mm, resonance of the ball screw may
. i occur depending on the operation conditions (critical speed). In this case, reduce
Maximum Speed,‘f‘g::ea(:h‘ X-axis 1200 960 | 780 | 600 | 540 the speed setting on the program by referring to the maximum speeds shown in
stroke (mm/sec) |speed setting - 80% | 65% | 50% | 45% the table at the left.

388 RCX320 » 660 RCX222 > 670 |




4 Y
SXYx 2 axes (A2
136+/-3 X stroke
90 3
70 2-$6H7 Depth 8 2T
o ote
32 ]( 8- M6 x 1.0 Depth 8 o s /.
(XX g 72 8l o w2,
‘ S 45 Vs i d
- : o % ‘ ‘
T Ege @ i e ‘ Lg‘
i 2 S ) Use M6 x 1.0 hex socket head bolt 2 LA
seies] DS with length head bolt with length 2|2l
(under head) of 20mm or more. <
! [
Detail of section A Detail of section B Detail of section C 0| )
—_— —_——— —_— | —| P
slegd O LT 7
6.5
170
g; 35 X stroke + 215
L (X stroke + 320)
[Yeii¥el
o0 [N
9.7 $8.2 A Note 2
& RN
$7.6 |
©o
C -secti f cabl i facd - | QR
ross-section or cable carrier = Ab’ | : E
8 I o
8o 64.5 o
| 239 53 |34
N-M6 x 1.0 Depth 10
28 -—-—-——- —-
500 - J N-¢p7 through (C)
2-¢10H7 156 Mx200 |IK 114
. See detaild drawing of C section [ 151 D +-0.02 )
~
SXYx 2 axes (A3
X stroke 284+/-3
90 3
70 2-$6H7 Depth 8 Note 1 1715
[ 32 }/8-M6x1.0Depth 8 >3 8
B =
A 72 8 o <&
i < RS > ]
,,,r,,o ST ) 45 +| 5
Tjlee @ oo| 0| 212
! -0 i, < Use M6 x 1.0 hex socket head bolt S| > 1
cedes] IR with length head bolt with length 5|3
(under head) of 20mm or more. > S W
Detail of section A Detail of section B Detail of section C )
R ==l
93 59.5
77 205
X stroke + 215 35
— 9 s 42 L (X stroke + 320)
$9.7 $8.2 B
$7.6 5 8 3 Note 2
Cross-section of cable carrier - & ce
g b
139 K M x 200 131
N-M6 x 1.0 Depth 10 200
SIS e ——— —
N-¢7 through (C) 200 |
114K || Mx200 156 N\ 2-$10H7
D +/-0.02 151 | See detaild drawing of C section
&
4
SXYx 2 axes (A4
X stroke 136+/-3
83
1 90
15 [ 70 2-b6H7 Depth 8
Lw* 32 }{'8-M6x1.0Depth 8
ol 8 [XX7.X =
: =N ! S 12
Gk —1ol5% 3 145 =
| e £ !7 —|£8 = H °°l gl Use M6 x 1.0 hex socket head bolt =
w2 Teies] |BS = with length head bolt with length <
,,,,, _ 1 = == ' (under head) of 20mm or more. 8
o Detail of section A Detail of section B Detail of section C
T LT [pese DelofssclonA  Detslofsecions - Daalofsecon
65 93
— 1170 77
X stroke + 215 35
L (X stroke + 320) =18
$9.7 $8.2
A o7.6
[ Cross-section of cable carrier
~ &g o ﬂ“ﬁ 3
g |
N j 3
[Yo)
64.5 25|
139 K__ Mx200 131 Note2 34153 | 239 =
N-M6 x 1.0 Depth 10 200
S —— 182
N-$7 through (C) — = ==
114\_K M x 200 156 “\2-$10H7
L D +-0.02 151 | See detaild drawing of C section )

RCX320 > 660 | RCX222 > 670 | 389




	Arm & cable variations
	2-axis spec selection guide
	3-axis spec selection guide
	Robot ordering method description
	Robot ordering method terminology
	ARM TYPE
	PXYx 2 axes C
	FXYx 2 axes C
	FXYx 2 axes / IO C
	FXYx 3 axes / ZS C
	FXYx 3 axes / ZT6L C
	FXYBx 2 axes C
	FXYBx 2 axes S
	FXYBx 2 axes / IO C
	SXYx 2 axes C
	SXYx 2 axes S
	SXYx 2 axes / IO C
	SXYx 3 axes / ZF C
	SXYx 3 axes / ZF S
	SXYx 3 axes / ZFL20
	SXYx 3 axes / ZFH C
	SXYx 3 axes / ZS C
	SXYx 3 axes / ZS S
	SXYx 4 axes / ZRF C
	SXYx 4 axes / ZRF S
	SXYx 4 axes / ZRFL20 C
	SXYx 4 axes / ZRFH C
	SXYx 4 axes / ZRS C
	SXYx 4 axes / ZRS S
	SXYBx 2 axes C
	SXYBx 3 axes / ZF C
	SXYBx 3 axes / ZFL20 C
	SXYBx 3 axes / ZFH C
	SXYBx 3 axes / ZS C
	SXYBx 4 axes / ZRS C
	NXY 2 axes C
	NXY 3 axes / ZFL C
	NXY 3 axes / ZFH C
	NXY-W 4 axes C
	NXY-W 6 axes / ZFL C
	NXY-W 6 axes / ZFH C
	MXYx 2 axes C
	MXYx 2 axes S
	MXYx 2 axes / IO C
	MXYx 3 axes / ZFL20/10 C
	MXYx 3 axes / ZFH C
	MXYx 4 axes / ZRFL20/10 C
	MXYx 4 axes / ZRFH C
	HXYx 2 axes C
	HXYx 3 axes / ZL C
	HXYx 3 axes / ZH C
	HXYx 4 axes / ZRL C
	HXYx 4 axes / ZRH C
	HXYLx 2 axes C

	GANTRY TYPE
	MXYx 2 axes C
	MXYx 2 axes / IO C
	MXYx 3 axes / ZFL20/10 C
	MXYx 3 axes / ZFH C
	MXYx 4 axes / ZRFL20/10 C
	MXYx 4 axes / ZRFH C
	HXYx 2 axes C
	HXYx 3 axes / ZL C
	HXYx 3 axes / ZH C
	HXYx 4 axes / ZRL C
	HXYx 4 axes / ZRH C
	HXYLx 2 axes C

	MOVING ARM TYPE
	SXYx 2 axes S
	SXYx 3 axes / ZF S
	SXYx 3 axes / ZFL20 S
	SXYx 3 axes / ZFH S
	SXYx 3 axes / ZS S
	MXYx 2 axes C
	MXYx 3 axes / ZFL20/10 C
	MXYx 3 axes / ZFH C
	HXYx 2 axes C
	HXYx 3 axes / ZH C

	POLE TYPE
	SXYx 2 axes S
	MXYx 2 axes C
	MXYx 2 axes S
	MXYx 3 axes / ZPMH C
	HXYx 2 axes C
	HXYx 2 axes S
	HXYx 3 axes / ZPH C
	HXYx 3 axes / ZPH S

	XZ TYPE
	SXYx 2 axes / ZF C
	SXYx 2 axes / ZF S
	SXYx 2 axes / ZFL20 C
	SXYx 2 axes / ZS C
	SXYx 2 axes / ZF C
	SXYBx 2 axes / ZFL20 C
	MXYx 2 axes / ZFL10 C
	MXYx 2 axes / ZFH C
	HXYx 2 axes / ZL C
	HXYx 2 axes / ZH C




